
2) R_n ( 5e('_ 4) ~ 2x. 

3) fu ( x+4 \ ) o 
x-2/ 

s) 

e 

1)::r;-\,o D = Tf/6 J C =-1f/t; ' lAB \ e ~ e 

I DA\ = 2. I e.o..\ e.o~ R._ I o.re.,o.... e.. 

i\ perÌ'r<1e-+ro d~ A.e:.c D . 

'\8 

b) (a.) Trovore- i\ r ì.s.~t..+a\--o o\.i -=2~~ dove -2:~='-f3+i e.. ~i.-=~-fij 
~ '\5 

2-

(b) Sc.r ì v-ere ~ ( -l,ovcrlo ;\-\ Lea.)) .Sìo.. M -f=r/T"\o.. -h<~cf'1~~co.. d--e. ÌY'L 

~r~ e..s..pOìen-èi o. le. . 

=i-) .b a.-k -2 = - fi + G i ,) 

( Q_) Ca..\ C.O Q..ore ~ -2 e 5c.r Ì Vet\dto Gw'\che_ ~ r~ et ~ 1 r::, 1 ~ 2. 1 =è 3) Ì fì 

+or (Y\Q,. 1::{" ~ cf"Cl("n&L CLÀ. e. d Ì.S ec:r~ ; 
(k) Co..\c..aQare e d~.sea--nor-e ~{~J. 


